CIRE Y S CF . |
104 é‘fﬁ )iﬁfl"“‘ SRR 4TI A Jyzé

B LT

1 RHEF(T P )

O Ox 17 %17

LR a ARALE T AL £ 100 4 o
b. €% PE A & $)4E -
C.HAMENGHRERE2Z T AARLEA -

1. f3pcs > fy"+y=tanx o (#& -1 :—Isin Xtan x dx =sin x — In|secx+tan x|) (20%)

2. e 34k f () =1 f,(x) =X, f,(X) =cosx, f,(x) =sin x & &+ 4p ik & 2 ?
(10%)

1 4
3. fipid A= 2 FApE o (10%
e (2 10] (10%)

4. 2R F =®1(257),(1,3,4),4,55) @+ E> A RjEs §Z g T4
Szt o (b) Rtz BFR 2 = A5 f o (20%)

5. flaplace ## L {2 (t—1)°} (10%)
6. ¢ s f(xy,2)=2x—y*+2> ()% Vi (3%) (2)%d &k (4-4.2) ks A%

gk w2 e g 0(2%) (3)F4it it 0> » 2 directional derivative
D, f (4,—4,2) (5%)

7. & FrAAE A .|.2xydx+ X2y, ATy =3x—2, 1<Xx<2 - (a) #P H A A

it M2 (D) R A & - (20%)



